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e int checkSensor(){
if (analogRead(0) > 400) {
return 1;
else{
return O;

.
.
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e inta() {

. if(digitalRead(sw) == HIGH){
e retuen 1;

¢}
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e return O;

. }

. }
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e int read LCD buttons(){
« adc _key in = analogRead(0);: // read the value from the sensor

. ﬁ/l my buttons when read are centered at these valies: 0, 144, 329, 504,
:

« // we add approx 50 to those values and check to see if we are close

 if (adc_key_in > 1000) return btnNONE; // We make this the 1st
option for speed reasons since it will be the most likely result

« // For V1.1 us this threshold
if (adc_key in <50) return btnRIGHT:
if (adc_key in < 250) return btnUP;
« if (adc_key_in < 450) return btnDOWN:
if (adc_key in < 650) return btnLEFT;
« if (adc_key in < 850) return btnSELECT:;
return btnNONE; // when all others fail, return this...

-}
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» lcd_key = read_LCD_buttons();
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e int b:
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e int b;
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« int a(int b,int ¢){

e int d;

ed=Db-c;

e return d;
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« void a(){
o //SLE
. ]

e void loop(){
- a();

. ]
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